Recitation 01: Preliminaries
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Topics to be covered: (Oct. 12-16)

0.1 Real Numbers and the Real Line

0.2 Cartesian Coordinates in the Plane

0.3 Graphs of Quadratic Equations

0.4 Functions and Their Graphs

0.5 Combining Functions to Make New functions
0.6 Polynomials and Rational Functions

0.7 The Trigonometric Functions
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Question 1
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1. Solve the following inequalities.
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Question 2
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2. Write an equation for the line through the points (—1.5) and (0,3).
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Question 3
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3. Find the equation for the (a) vertical line and (b) the horizontal line through the point (—1.0).
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4. Find the equation for the line through|P(—1, 3) that is perpendicular to the line y + & +2 = 0.

Find the = and y-intercepts of this liné: —

SOK\}&\D/\ : NQ‘C: L( and. Lz_'. lines
L\‘. \3:—7('9‘ = m=-L1 ‘ M{ ond Mz: S\ope3
» = - — MMy =—{
We \nows Aok Ly Lla =7 MiMz = -\ A Lll, = mM
= M=
o g [EET) @ it B we
S\ (\"*N\ ean Qor ¥\ line* -
:3_50 — m.(*x-%) = j-—S;L(X-H) :7_1:5_-X+LI '
DN =% Y x-invocept 7Y
& ‘D_M\WCLP\' : Lf

WEEK 1 Section 52 Sayfa 6



Question 5
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5. Describe and sketch the regions defined by the followings

(a) 22 + y2 — 2z — 4y < 4, D)2 +y2 <4, 22 +9y%> 2y, () 2 + 42 > 2, y>14+x
(d)y > (x—1 249 y <2z, (e) 472 + (y — 2)2 < 4
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Question 6
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6. Find the points of intersection of the pairs of curves

F3 . y=3x+1 (b) 222 + 242 =5, zy = 1
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7. Write an equation of the graph obtained by shifting the graph of y = /=

e

(a) down 1, right 1 (b) down 2, left 4 (c¢) up 2, left 1 (d) up 1, right 1
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Question 8
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8. Find the domain and range of each function and sketch their graphs: r
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Question 9
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9. (a) How is the graph of y = f(|xz|) related to the graph of f?

(b) Sketch the graph of y = sin |z|.
(¢) Sketch the graph of y = /|z|.
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Question 10

13 Ekim 2020 Sal 16:45

)l L | T —1

10. (a) Find f o g and its domain where f(x) =+ + — and ¢g(x) = —.
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(b) Given F(x) = sin®(x — 5), find functions f, ¢ and h such that F=fogoh.
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